



Vendor Ranking Page 1 of 1

**Letting:** 03231109 November 09, 2023 10:00 **Call Order:** 005 **Contract:** E3X53

ΑM

District: District 3 Counties: DIST/ST-WIDE, Fed Aid No: N/A

Contract Time: 12/31/24 COMPLETION DATE

JACKSON, WASHINGTON Project(s): 42212227231 (\*)

Contract Desc: MARIANNA MAINTENANCE - WDD SIGN REPAIR-REPLACE-CLEAN

Ran	k Vendor	Bid Type	Bid Status	Total Bid	Percent Of Low Bid
1	EMERALD COAST STRIPING, LLC.	Responsive	Winning bid	\$412,980.00	100.00%
2	ACME BARRICADES LC	Responsive	Non-Winning Bid	\$522,520.00	126.52%
	SMILEY INTERIOR RENOVATIONS CO	Irregular			

NOTE: Failure to file a protest within the time prescribed in section 120.57(3), Florida Statutes, or failure to post the bond or other security required by law within the time allowed for filing a bond shall constitute a waiver of proceedings under chapter 120, Florida Statutes.

The Estimated Budget for this Contract is \$250,000.00





#### **Tabulation of Bids**

Page 1 of 6

Letting:03231109November 09, 2023Call Order:005Contract:E3X53District:District 3Counties:DIST/ST-WIDE,Fed Aid No: N/A

Contract Time: 12/31/24 COMPLETION DATE JACKSON, Project(s): 42212227231 (\*)

Contract Descr: MARIANNA MAINTENANCE - WDD SIGN REPAIR-REPLACE-CLEAN

The improvements under this Work Document Driven Contract consist of providing all labor, materials, and equipment necessary to remove, install, clean, and repair single and multi-post signs on State Road 8 (Interstate 10) in Jackson & Washington Counties. Sign repair includes, but is not limited to, installation of missing or damaged hardware components, straightening post and/or sign panels and removal of damaged components. Mobilization and Maintenance of Traffic are incidental to the pay items listed.

This contract has a budgetary estimate of \$250,000.00.

The quantities shown on the Bid Price Proposal are approximate and only represent estimated planned requirements based on historical or specific project needs. The Department does not guarantee any maximum or minimum quantity, any range of quantities, or the exact quantities shown for each bid item. The Departments estimated quantities and the Contractors bid price will be used to calculate a total bid amount. This total bid amount will then be used to determine the low bidder; however, actual payment under the awarded contract will be based on actual quantities completed. For this Contract in which specific sites are not identified at the time of letting, the Engineer will issue a Work Document. Work Documents will identify the location, description, amount of work to be accomplished, and the number of calendar days to complete the work.

Line No / Item ID Item Description	Alternate	Quantity Units	(1) EMERAL STRIPIN		(2) ACME BAR	RICADES LC		
( ) indicates item is bid	as Lump Sum		Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION:	0001	(SIGNS(GRND	SIGNS 30 SQ FT (	OR LESS)(UN				
0005 0700 1 11 SINGLE POST SIGN, F MOUNT, UP TO 12 SF	&I GROUND	8.000 AS	800.00000	6,400.00	650.00000	5,200.00		
0010 0700 1 12 SINGLE POST SIGN, F MOUNT, 12-20 SF	&I GROUND	4.000 AS	1,600.00000	6,400.00	2,700.00000	10,800.00		
0015 0700 1 13 SINGLE POST SIGN, F MOUNT, 21-30 SF	&I GROUND	2.000 AS	2,500.00000	5,000.00	3,200.00000	6,400.00		
0020 0700 1 14 SINGLE POST SIGN, F MOUNT, 31+ SF	&I GROUND	2.000 AS	3,250.00000	6,500.00	4,400.00000	8,800.00		





## **Tabulation of Bids**

Page 2 of 6

Letting	: 032	31109	November 09,	2023 <b>Ca</b>	II Order: 005		Contract:	E3X53	
	No / Item ID Description	Alternate	Quantity Units	(1) EMERA STRIPIN		(2) ACME BAR	RICADES LC		
	cates item is bid a	as Lump Sum		Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
	SECTION: 0	0001	(SIGNS(GRND	SIGNS 30 SQ FT	OR LESS)(UN				
	0700 1 60 POST SIGN, RE	EMOVE	14.000 AS	100.00000	1,400.00	195.00000	2,730.00		
MULTI- P	0700 2 11 POST SIGN, F& UP TO 12 SF	I GROUND	3.000 AS	3,200.00000	9,600.00	3,500.00000	10,500.00		
MULTI- P	0700 2 12 POST SIGN, F& 12-20 SF	I GROUND	6.000 AS	3,850.00000	23,100.00	4,000.00000	24,000.00		
MULTI- P	0700 2 13 POST SIGN, F& 21-30 SF	I GROUND	2.000 AS	4,400.00000	8,800.00	5,000.00000	10,000.00		
MULTI- P	0700 2 14 POST SIGN, F& 31-50 SF	I GROUND	4.000 AS	5,450.00000	21,800.00	7,500.00000	30,000.00		
MULTI- P	0700 2 15 POST SIGN, F& 51-100 SF	I GROUND	4.000 AS	8,500.00000	34,000.00	12,500.00000	50,000.00		
MULTI- P	0700 2 16 POST SIGN, F& 101-200 SF	I GROUND	2.000 AS	20,000.00000	40,000.00	20,000.00000	40,000.00		
MULTI- P	0700 2 17 POST SIGN, F& 201-300 SF	I GROUND	1.000 AS	25,000.00000	25,000.00	25,000.00000	25,000.00		
	0700 260 POST SIGN, RE	MOVE	11.000 AS	500.00000	5,500.00	2,250.00000	24,750.00		





## **Tabulation of Bids**

Page 3 of 6

Letting:	03231109	November 09,	2023 <b>Ca</b>	II Order: 005		Contract:	E3X53	
Line No / Item ID		e Quantity Units	(1) EMERAI STRIPIN		(2) ACME BAR	RICADES LC		
( ) indicates item is			Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION	0001	(SIGNS(GRND	SIGNS 30 SQ FT	OR LESS)(UN				
0070 0700 3101 SIGN PANEL, FURN GROUND MOUNT, I		15.000 EA	500.00000	7,500.00	1,000.00000	15,000.00		
0075 0700 3102 SIGN PANEL, FURN GROUND MOUNT,	ISH & INSTALL	15.000 EA	900.00000	13,500.00	1,000.00000	15,000.00		
0080 0700 3103 SIGN PANEL, FURN GROUND MOUNT, 2		1.000 EA	1,200.00000	1,200.00	1,500.00000	1,500.00		
0085 0700 3104 SIGN PANEL, FURN GROUND MOUNT, 3	ISH & INSTALL	2.000 EA	2,000.00000	4,000.00	2,500.00000	5,000.00		
0090 0700 3105 SIGN PANEL, FURN GROUND MOUNT, S	ISH & INSTALL	2.000 EA	4,000.00000	8,000.00	5,000.00000	10,000.00		
0095 0700 3106 SIGN PANEL, FURN GROUND MOUNT,	ISH & INSTALL	2.000 EA	7,500.00000	15,000.00	10,000.00000	20,000.00		
0100 0700 3107 SIGN PANEL, FURN GROUND MOUNT, 2	ISH & INSTALL	2.000 EA	12,000.00000	24,000.00	15,000.00000	30,000.00		
0105 0700 3108 SIGN PANEL, FURN GROUND MOUNT, 3	ISH & INSTALL	2.000 EA	15,000.00000	30,000.00	20,000.00000	40,000.00		
0110 0700 3603 SIGN PANEL, REMO		30.000 EA	150.00000	4,500.00	500.00000	15,000.00		





## **Tabulation of Bids**

Page 4 of 6

Letting:	03231109	November 09,	2023 <b>Ca</b>	II Order: 005		Contract:	E3X53	
Line No /		te Quantity Units	(1) EMERA STRIPIN		(2) ACME BAR	RICADES LC		
	item is bid as Lump Sum		Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SE	CTION: 0001	(SIGNS(GRND	SIGNS 30 SQ FT	OR LESS)(UN				
	) 3604 , REMOVE, 31-50 SF	2.000 EA	150.00000	300.00	500.00000	1,000.00		
	) 3605 , REMOVE, 51-100 SF	2.000 EA	300.00000	600.00	500.00000	1,000.00		
	) 3606 , REMOVE, 101-200 S	1.000 SF EA	500.00000	500.00	1,000.00000	1,000.00		
	) 3607 , REMOVE, 201-300 S	1.000 SF EA	1,000.00000	1,000.00	1,000.00000	1,000.00		
	) 3608 , REMOVE, 301-400 S	1.000 SF EA	1,500.00000	1,500.00	1,000.00000	1,000.00		
	0 3 1 CLEANING, GROUNI IGNS	3,000.000 O SF	10.00000	30,000.00	20.00000	60,000.00		
	0 46 31 STING SIGN (SINGLE	25.000 POST) AS	1,500.00000	37,500.00	250.00000	6,250.00		
	0 46 32 STING SIGN (MULTI P	15.000 OST) AS	2,500.00000	37,500.00	2,500.00000	37,500.00		
	0 94 1 ′ SIGN SUPPORT N (F&I)	1.000 EA	2,500.00000	2,500.00	10,000.00000	10,000.00		





# **Tabulation of Bids**

Page 5 of 6

Letting:	03231109	November 09,	2023 <b>Cal</b>	l Order: 005		Contract:	E3X53	
Line No /		e Quantity Units	(1) EMERAI STRIPIN		(2) ACME BAR	RICADES LC		
() indicates	s item is bid as Lump Sum		Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SE	ECTION: 0001	(SIGNS(GRND	SIGNS 30 SQ FT	OR LESS)(UN				
BREAKAWA'	00 94 2 Y SIGN SUPPORT NN (REMOVE)	1.000 EA	300.00000	300.00	4,000.00000	4,000.00		
	00 96 1 DRT REPAIRS (ALUMIN	1.000 NUM) LB	30.00000	30.00	45.00000	45.00		
	00 96 2 DRT REPAIRS (STEEL)	1.000 LB	50.00000	50.00	45.00000	45.00		
	GNS(GRND SIGNS 30 S SQ FT OR LESS)(UN)	Section Totals:		\$412,980.00		\$522,520.00		
	Contract G	rand Totals:		\$412,980.00		\$522,520.00		



12/13/2023

**Tabulation of Bids** 

Page 6 of 6

**Letting:** 03231109

November 09, 2023

Call Order: 005

Contract:

E3X53

NOTE: Failure to file a protest within the time prescribed in section 120.57(3), Florida Statutes, or failure to post the bond or other security required by law within the time allowed for filing a bond shall constitute a waiver of proceedings under chapter 120, Florida Statutes.